=
<

(0 @) (rad)

10721

Ratio

0.

1o

2 3

TP n (PCA to beamline)

a(d cot(d))

Ratio

107%=:1: b

N
TTTTTTTT

|
W[

-1 0 1 2 3

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default

—+— DQMstep3_SoftQCD_defaultNEWT2

SICEWATL

107}

o
)
T T T T

I
w)
I
N
[N
AN
o
=)

2 3

=

o p/p.)

102 o | S R 5 Eop S o

..........

2

3

TP n (PCA to beamline)

z

oo a,) (cm)

Ratio

107}

.....................................

i

....................................

-1 0 ) 3
TP n (PCA to beamline)



	Contents
	Page 1


